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ÍÛæ̃ Û¶ÛÛ :   (1) þùà–ÛÙ ¸ÛóÊ¶ÛÛé¶ÛÛ× ›÷ÈÛÛ¼Û 900 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé. 

Instructions :  Write long questions in 900 words. 

    (2) ¤æ×øïõ¶ÛÛêµÛ 450 ÉÛ¼þùÛé¾ÛÛ× ÅÛ”ÛÛé. 

     Write short notes in 450 words. 

    (3) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé. 

     Figures to the right indicate full marks. 

 

1. ÜÈÛýÛé¶ÛÛ ïõÛê•ÛóéÍÛ¶Ûà ïõÛ¾Û•ÛàÁõà¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé …¶Ûé ýÛäÁõÛé¸Û¶ÛÛ× ˆÜ©ÛÐüÛÍÛ¾ÛÛ× ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé. 14 

 Evaluate the work of Vienna Congress and explain its significance in the History of 
Europe. 

    …¬ÛÈÛÛ/OR 

 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 

 Write a short note on  : 

 (1) ýÛäÁõÛé¸ÛàýÛ ÍÛ×–Û¶Ûà Ü¶ÛÌºõÇ©ÛÛ¶ÛÛ× ïõÛÁõ¨ÛÛé. 

  The causes of failure of Concerts of Europe. 

 (2) ÈÛéÁõÛé¶ÛÛ ÍÛ×¾ÛéÅÛ¶Û 

  Verona Congress 
 

2. ˆ.ÍÛ. 1830¶Ûà »õÛ×ÍÛ¶Ûà ’õÛ×Ü©Û¶Ûà ýÛäÁõÛé¸Û ¸ÛÁõ …ÍÛÁõÛé ÈÛ¨ÛÙÈÛÛé. 14 

 Describe the effects of the French Revolution in Europe of 1830 A.D. 

    …¬ÛÈÛÛ/OR 

 ˆ.ÍÛ. 1848¶Ûà »õÛ×ÍÛ¶Ûà ’õÛ×Ü©Û¶ÛÛ ïõÛÁõ¨ÛÛé …¶Ûé ýÛäÁõÛé¸Û ¸ÛÁõ …ÍÛÁõÛé ÈÛ¨ÛÙÈÛÛé. 

 Describe the causes of French Revolution of 1848 A.D. and its effects on Europe. 
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3. ˆ¤øÛÅÛà¶ÛÛ …éïõàïõÁõ¨Û¶ÛÛé ˆÜ©ÛÐüÛÍÛ …ÛÅÛé”ÛÛé. 14 

 State the History of Unification of Italy. 

   …¬ÛÈÛÛ/OR 

 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 

 Write short notes on :  

 (1) Ü¼ÛÍ¾ÛÛïÙõ¶Ûà ÜÈÛþéùÉÛ¶ÛàÜ©Û 

  Foreign Policy of Bismarck 

 (2) ›÷¾ÛÙ¶Ûà¶ÛÛ …éïõàïõÁõ¨Û¾ÛÛ× Ü¼ÛÍ¾ÛÛïÙõ¶Ûä× ¸ÛóþùÛ¶Û 

  The role of Bismarck in the Unification of Germany 

 

4. ÈÛÍÛëÅÍÛ¶Ûà ÍÛ×ÜµÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ˜Û˜ÛÛë. 14 

 Discuss the provisions of Treaty of Versailles. 

   …¬ÛÈÛÛ/OR 

 ÁõÛÌ¤ÖøÍÛ×–Û¶ÛÛ Ðéü©Ûä…Ûé …¶Ûé …×•ÛÛé¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé. 

 Describe the aims and organs of League of Nations. 

 

5. (A) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõà ÅÛ”ÛÛé. 3 

  Find out the correct answer :  

  (1) ÜÈÛýÛé¶ÛÛ ÍÛ×¾ÛéÅÛ¶Û ¸Û™öà »õÛ×ÍÛ¾ÛÛ× ïõýÛÛé ÁõÛ›Û •ÛÛþùà ¸ÛÁõ …ÛÈýÛÛé Ðü©ÛÛé ? 

    (…) Ü¼ÛÍ¾ÛÛïÙõ (¼Û) ÅÛæˆ-16 (ïõ) ÅÛæˆ-18 

    Which king came in the power after the Congress of Vienna ? 

    (A) Bismarck (B) Louis-16 (C) Louis-18 

  (2) ¸Ûó¬Û¾Û ÜÈÛÊÈÛýÛä±ù ¾ÛÛ¤éø ïõýÛÛ ¶Ûé©ÛÛ¶Ûà ÜÈÛþéùÉÛ¶ÛàÜ©Û ›÷ÈÛÛ¼ÛþùÛÁõ Ðü©Ûà ? 

    (…) ¾Ûé¤øÁõÜ¶Ûïõ (¼Û) Ü¼ÛÍ¾ÛÛïÙõ (ïõ) ¶Ûé¸ÛÛéÜÅÛýÛ¶Û 

    Which leader’s foreign policy was responsible for First World War  ? 

    (A) Matternich  (B) Bismarck (C) Napoleon 

  (3) ›÷¾ÛÙ¶Ûà¶Ûä× …éïõàïõÁõ¨Û ïõýÛÛ ÈÛÌÛë ¸Ûæ¨ÛÙ ¬ÛýÛä× Ðü©Ûä× ? 

    (…) ˆ.ÍÛ. 1871 (¼Û) ˆ.ÍÛ. 1818 (ïõ) ˆ.ÍÛ. 1860 

    In which year Unification of Germany was completed ?  

    (A) 1871 A.D. (B) 1818 A.D. (C) 1860 A.D. 



 (B) ›Ûé¦øïõÛ ýÛÛé•ýÛ Áõà©Ûé ›Ûé¦øÛé :   5 
  Join the following properly : 

ÜÈÛ½ÛÛ•Û-… 

Column – A 

ÜÈÛ½ÛÛ•Û-¼Û 

Column – B 

(1) ÜÈÛýÛé¶ÛÛ ÍÛ×¾ÛéÅÛ¶Û 

 Vienna Congress 
(a) ¾Ûé¡öà¶Ûà 

 Mazzini  

(2) ¾Ûé ïõÛýÛþùÛ…Ûé 

 May Laws 
(b) ¾Ûé¤øÁõÜ¶Ûïõ 

 Matternich 

(3) ˆ.ÍÛ. 1848¶Ûà »õÛ×ÍÛ¶Ûà ’õÛ×Ü©Û 

 French Revolution of 1848 A.D. 
(c) ÈÛä¦ÖøÛé ÜÈÛÅÍÛ¶Û 

 Woodrow Wilson 

(4) ©ÛÄõ¨Û ˆ¤øÛÅÛà 

 Young Italy 
(d) •Ûà¡öÛé 

 Guixot 

(5) ÁõÛÌ¤ÖøÍÛ×–Û 

 League of Nations 
(e) ºõÛéïõ ïõÛýÛþùÛ…Ûé 

 Falk Laws 

 (C) ÜÈÛµÛÛ¶Û ”ÛÁäõ ™öé ïéõ ”ÛÛé¤äø ÅÛ”ÛÛé :   2 
  Write true or false :  

  (1) Ü¼ÛÍ¾ÛÛïÙõ ÜÈÛýÛé¶ÛÛ ïõÛ×•ÛóéÍÛ¶ÛÛ ¸Ûó¾Ûä”Û Ðü©ÛÛ. 

   Bismarck was the President of Vienna Congress. 

  (2) ýÛäÁõÛé¸ÛàýÛ ÍÛ×–Û¶ÛÛ ¸ÛÛ×˜Û ÍÛ×¾ÛéÅÛ¶Û ½ÛÁõÛýÛÛ Ðü©ÛÛ. 

   Five conferences of European Concert were held. 

 (D) ”ÛÛÅÛà›÷•ýÛÛ ¸ÛæÁõÛé :   4 
  Fill up the blanks : 

  (1) ÜÈÛýÛé¶ÛÛ ÍÛ×¾ÛéÅÛ¶Ûé »õÛ×ÍÛ¶Ûé _______ »õÛ×ïõ þ×ù¦ø ’õýÛÛé Ðü©ÛÛé. 

   The Vienna Congress had imposed on France a penalty of ________ Franc. 

  (2) ˆ.ÍÛ. 1830¶Ûà »õÛ×ÍÛ¶Ûà ’õÛ×Ü©Û ¼ÛÛþù _______ ÈÛ×ÉÛ¶ÛÛé ÁõÛ›Û •ÛÛþùà ¸ÛÁõ …ÛÈýÛÛé Ðü©ÛÛé. 

   After the Revolution of 1830 A.D. in France, the King of _______ dynasty 
had come to the throne. 

  (3) ïõÛÅÍÛÙ¼ÛÛþù¶ÛÛ …ÛþéùÉÛÛé _______ ÈÛÌÛÙ¾ÛÛ× ›ÛÐéüÁõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛ Ðü©ÛÛ. 

   In the year ________, the Carlsbad’s decrees was announced.  

  (4) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¾Û›÷þæùÁõ ÍÛ×Í¬ÛÛ¶Ûà ïõÛÁõÛé¼ÛÛÁõà¶Ûà ÍÛ½ýÛ ÍÛ×”ýÛÛ _______ Ðü©Ûà. 

   International Labour Organization had ________ members in its working 
committee. 
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